
≔S11 ∠0.95539 °134.65 ≔S21 ∠1.760155 °13.81

≔S12 ∠0.034576 - °36.49 ≔S22 ∠0.48362 °148.16

≔Δ =-⋅S11 S22 ⋅S12 S21 ∠0.43 - °83.814

≔K =――――――――
+--1 ||S11||

2 ||S22||
2 ||Δ||2

2 || ⋅S12 S21||
∠0.311 °0

≔B1 --+1 ||S11||
2 ||S22||

2 ||Δ||2

≔B2 --+1 ||S22||
2 ||S11||

2 ||Δ||2

≔C1 -S11 ⋅Δ ‾‾‾S22

≔C2 -S22 ⋅Δ ‾‾‾S11

≔ΓS =―――――――
-B1

‾‾‾‾‾‾‾‾‾‾‾-B1
2 ⋅4 ||C1||

2

⋅2 C1

∠1 - °140.909

≔ΓL =―――――――
-B2

‾‾‾‾‾‾‾‾‾‾‾-B2
2 ⋅4 ||C2||

2

⋅2 C2

∠1 °139.638

≔zS =――
+1 ΓS

-1 ΓS

∠0.355 - °90 ≔zL =―――
+1 ΓL

-1 ΓL

∠0.368 °90

≔yS =―
1
zS

∠2.817 °90 ≔yL =―
1
zL

∠2.721 - °90

≔GS =―――
1

-1 ||ΓS||
2

? ≔GSdB =⋅10 log⎛⎝GS⎞⎠ ?

≔G0 =||S21||
2 ∠3.098 °0 ≔G0dB =⋅10 log⎛⎝G0⎞⎠ ∠4.911 °0

≔GL =―――――
-1 ||ΓL||

2

|| -1 ⋅S22 ΓL||
2

0 ≔GLdB =⋅10 log⎛⎝GL⎞⎠ ?

≔GTmax =++GSdB G0dB GLdB ?

≔ZS =⋅zS 50 ∠17.751 - °90 ≔ZL =⋅zL 50 ∠18.377 °90

≔YS =―
yS
50

∠⋅56.336 10-3 °90 ≔YL =―
yL
50

∠⋅54.415 10-3 - °90
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